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Cuadro 11 (continuación 6)/Table 11 (continued 6)
Guatemala: tablas abreviadas de mortalidada

 Guatemala: abridged life tables a

2010

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.033 0.032  100 000  3 173  97 448 0.966 b 6 815 062 68.2
1 4 0.002 0.007  96 827   660  385 665 0.994 c 6 717 614 69.4
5 5 0.001 0.003  96 166   268  480 162 0.997 6 331 949 65.8

10 5 0.001 0.004  95 898   351  478 615 0.994 5 851 786 61.0
15 5 0.002 0.009  95 547   838  475 643 0.988 5 373 172 56.2
20 5 0.003 0.016  94 710  1 525  469 738 0.981 4 897 528 51.7
25 5 0.004 0.022  93 185  2 052  460 796 0.976 4 427 791 47.5
30 5 0.005 0.025  91 133  2 320  449 864 0.974 3 966 995 43.5
35 5 0.006 0.027  88 813  2 436  437 973 0.971 3 517 131 39.6
40 5 0.006 0.030  86 376  2 566  425 467 0.968 3 079 158 35.6
45 5 0.007 0.034  83 810  2 852  411 922 0.962 2 653 692 31.7
50 5 0.009 0.042  80 959  3 403  396 286 0.951 2 241 769 27.7
55 5 0.011 0.056  77 556  4 307  377 011 0.933 1 845 484 23.8
60 5 0.016 0.079  73 249  5 783  351 785 0.908 1 468 473 20.0
65 5 0.022 0.106  67 465  7 147  319 460 0.874 1 116 688 16.6
70 5 0.032 0.149  60 319  9 015  279 055 0.810  797 229 13.2
75 5 0.054 0.239  51 303  12 242  225 911 0.702  518 174 10.1
80 5 0.092 0.376  39 061  14 673  158 624 0.558  292 262 7.5
85 5 0.154 0.548  24 388  13 373  88 508 0.398  133 639 5.5
90 5 0.242 0.719  11 015  7 923  35 269 0.252  45 130 4.1
95 5 0.353 0.849  3 092  2 626  8 897 0.098 d  9 861 3.2

100 ω 0.483 1.000   466   466   965   965 2.1
Mujeres/Females

0 1 0.027 0.027  100 000  2 661  97 821 0.971 b 7 473 215 74.7
1 4 0.002 0.006  97 339   632  387 794 0.995 c 7 375 394 75.8
5 5 0.000 0.002  96 707   228  482 965 0.998 6 987 600 72.3

10 5 0.000 0.002  96 479   231  481 817 0.997 6 504 635 67.4
15 5 0.001 0.004  96 248   377  480 296 0.995 6 022 818 62.6
20 5 0.001 0.006  95 870   546  477 987 0.994 5 542 522 57.8
25 5 0.001 0.007  95 324   677  474 931 0.992 5 064 535 53.1
30 5 0.002 0.008  94 648   799  471 242 0.991 4 589 604 48.5
35 5 0.002 0.010  93 849   965  466 831 0.988 4 118 362 43.9
40 5 0.003 0.013  92 884  1 240  461 319 0.984 3 651 531 39.3
45 5 0.004 0.018  91 644  1 685  454 009 0.978 3 190 212 34.8
50 5 0.005 0.026  89 960  2 379  443 851 0.967 2 736 203 30.4
55 5 0.008 0.039  87 581  3 414  429 370 0.952 2 292 351 26.2
60 5 0.012 0.058  84 167  4 848  408 715 0.933 1 862 981 22.1
65 5 0.016 0.078  79 319  6 170  381 169 0.905 1 454 267 18.3
70 5 0.024 0.113  73 149  8 300  344 994 0.848 1 073 098 14.7
75 5 0.043 0.195  64 849  12 633  292 661 0.747  728 104 11.2
80 5 0.077 0.325  52 216  16 960  218 679 0.611  435 442 8.3
85 5 0.129 0.483  35 256  17 043  133 673 0.458  216 763 6.1
90 5 0.204 0.654  18 213  11 918  61 272 0.308  83 091 4.6
95 5 0.303 0.800  6 295  5 036  18 887 0.134 d  21 819 3.5

100 ω 0.429 1.000  1 259  1 259  2 932  2 932 2.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


